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QUESTION 1
Note: This question is part of a series of questions that present the same scenario. Each
guestion in the series contains a unique solution that might meet the stated goals. Some
guestion sets might have more than one correct solution, while others might not have a
correct solution. After you answer a question in this section. you will NOT be able to return
to it. As a result, these questions will not appear in the review screen.
You create a table named Products by running the following Transact-SQL statement:
CREATE TABLE Products (

ProductID int IDENTITY(1,1) NOT NULL PRIMARY KEY,

ProductName nvarchar(100) NULL,

UnitPrice decimal (18, 2) KOT NULL,

UnitsInStock int NOT NULL,

UnitsOnOrder int NULL
)

You have the following stored procedure:
CREATE PROCEDURE InsertProduct
@ProductName nvarchar(100),
@UnitPrice decimal(ls,2),
@UnitsInStock int,
@UnitsOnOrder int
AS
BEGIN
INSERT INTO Products(ProductName, PrecductPrice, ProductsInStock, ProductsOnOrder)
VALUES (&ProductNams,@UnitPrice,@UnitsInStock, @UnitsOnOrder)
END
You need to modify the stored procedure to meet the following new requirements:
- Insert product records as a single unit of work.
- Return error number 51000 when a product fails to insert into the
database.
- If a product record insert operation fails, the product information
must not be permanently written to the database.
Solution: You run the following Transact-SQL statement:
ALTER PROCEDURE InsertProduct
@ProductName nvarchar(100),
@UnitPrice decimal(ls,2),

@UnitsInStock int,
@UnitsOnOrder int

RS
BEGIN
SET XACT_ABORT ON
BEGIN TRY
BEGIN TRANSACTION
INSERT INTO Products (ProducctName, PreductPrice, ProductsInStock, PreductsOnOrder)
VALUES (@ProductName,@UnitPrice,@UnitsInStock, @UnitsCnlOrder)
COMMIT TRENSAZCTION
END TRY
BEGIN CATICH
IF XACT_STATE() <> 0 ROLLBACK TRANSACTICN
THROW 51000, ‘The product could not be created.’, 1
END CATCH
END

Does the solution meet the goal?

A. Yes
B. No

Answer: B

Explanation:
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With X_ABORT ON the INSERT INTO statement and the transaction will be rolled back when an
error is raised, it would then not be possible to ROLLBACK it again in the IF XACT_STATE() <> O
ROLLACK TRANSACTION statement.

Note: A transaction is correctly defined for the INSERT INTO ..VALUES statement, and if there is
an error in the transaction it will be caught ant he transaction will be rolled back, finally an error
51000 will be raised.

Note: When SET XACT_ABORT is ON, if a Transact-SQL statement raises a run-time error, the
entire transaction is terminated and rolled back. XACT_STATE is a scalar function that reports the
user transaction state of a current running request. XACT_STATE indicates whether the request
has an active user transaction, and whether the transaction is capable of being committed.

The states of XACT_STATE are:

-- There is no active user transaction for the current request.

-- The current request has an active user transaction. The request can perform any actions,
including writing data and committing the transaction.

-- The current request has an active user transaction, but an error has occurred that has caused
the transaction to be classified as an uncommittable transaction.

References:

https://msdn.microsoft.com/en-us/library/ms188792.aspx
https://msdn.microsoft.com/en-us/library/ms189797.aspx

QUESTION 2
Note: This question is part of a series of questions that present the same scenario. Each
guestion in the series contains a unique solution that might meet the stated goals. Some
guestion sets might have more than one correct solution, while others might not have a
correct solution. After you answer a question in this section. you will NOT be able to return
to it. As a result, these questions will not appear in the review screen.
You create a table named Products by running the following Transact-SQL statement:
CREATE TABLE Products (

ProductID int IDENTITY(1,1) NOT NULL PRIMARY KEY,

ProductName nvarchar(100) NULL,

UnitPrice decimali (18, 2) NKOT NULL,

UnitsInStock int NOT NULL,

UnitsOnOrder int NULL
)
You have the following stored procedure:
CREATE PROCEDURE InsercProduct

@ProductName nvarchar(100),
@UnictPrice decimal(ls,2),
@UnitsInStock int,
@UnitsOnOrder int
AS
BEGIN
INSERT INTO Products (ProductName, ProductPrice, ProductsInSctock, PrecductsOnlOrder)
VALUES (&ProductNams,@UnitPrice,@UnitsInStock,@UnitsOnlrder)
END

You need to modify the stored procedure to meet the following new requirements:
- Insert product records as a single unit of work.

- Return error number 51000 when a product fails to insert into the
database.

- If a product record insert operation fails, the product information

must not be permanently written to the database.

Solution: You run the following Transact-SQL statement:
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ALTER PROCEDURE InsertProduct
@ProductName nvarchar(100),
@UnitPrice decimal(ls,2),
@UnitsInStock int,
@UnitsOnOrder int

AS
BEGIN
BEGIN TRY
BEGIN TRENSACTION
INSERT INTIO Products (ProductName, ProductPrice, ProductsInStock, ProductsOnOrder)
VALUES (€ProductName,@UnitPrice,@UnitsInStock, @UnitsOnOrder)
COMMIT TRANSACTION
END IRY
BEGIN CAZICH
IF @ETRANCOUNT > 0 ROLLBACK TRANSACTION
IF @EERROR = 51000
THROW
END CATCH
END

Does the solution meet the goal?

A. Yes
B. No

Answer: B

Explanation:

A transaction is correctly defined for the INSERT INTO ..VALUES statement, and if there is an error
in the transaction it will be caught ant he transaction will be rolled back. However, error number
51000 will not be returned, as it is only used in an IF @ERROR = 51000 statement.

Note: @ @TRANCOUNT returns the number of BEGIN TRANSACTION statements that have
occurred on the current connection.

References: https://msdn.microsoft.com/en-us/library/ms187967.aspx

QUESTION 3

Note: This question is part of a series of questions that present the same scenario. Each
guestion in the series contains a unique solution that might meet the stated goals. Some
guestion sets might have more than one correct solution, while others might not have a
correct solution. After you answer a question in this section. you will NOT be able to return
to it. As a result, these questions will not appear in the review screen.

You create a table named Products by running the following Transact-SQL statement:

CREATE TABLE Products |(
ProductID int IDENTITY(1,1) NOT NULL PRIMARY KEY,
roductName nvarchar(100) NULL,

UnictPrice decimal (1€, 2) NOT NULL,
UnitsInStock int NOT NULL,

vy

UnitsOnOrder int NULL

You have the following stored procedure:
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CREATE PROCEDURE InsertProduct
@ProductName nvarchar(l100),
fUnicPrice decimal(ls,2),
@UnitsInStock int,
@UnitsOnCrder int

AS

BEGIN
INSERT INT(
VALUES (@€Pro

H o
o
"

duc:s(P oductName, ProductPrice
t ck

roductsinStock, ProductsOnOrder)
Name, @UnitPrice, @UnitsInSto )

P
,@UnitsOnOrder
END

You need to modify the stored procedure to meet the following new requirements:

- Insert product records as a single unit of work.
- Return error number 51000 when a product fails to insert into the
database.

- If a product record insert operation fails, the product information
must not be permanently written to the database.
Solution: You run the following Transact-SQL statement:

ALTER PROCEDURE InsertProduct
@ProductName n.a:cra-(;ﬁﬁ>,
@UnitPrice decimai(1s3,2),
@UnitsInStock int,
@UnitsOnOrder int
AS
BEGIN
BEGIN TRY
INSERT INTO Products (ProductName, ProductPrice, ProductsInStock, PreductsOnOrder)
VALUES (@ProductName,@UnitPrice,@UnitsInStock, @UnitsOnOrder)
END TRY
BEGIN CATCH
THROW 51000, ‘The product could not be created.’, 1
END CATCH
END

Does the solution meet the goal?

A. Yes
B. No

Answer: A

Explanation:

If the INSERT INTO statement raises an error, the statement will be caught and an error 51000 will
be thrown. In this case no records will have been inserted.

Note: You can implement error handling for the INSERT statement by specifying the statement in
a TRY...CATCH construct.

If an INSERT statement violates a constraint or rule, or if it has a value incompatible with the data
type of the column, the statement fails and an error message is returned.

References: https://msdn.microsoft.com/en-us/library/ms174335.aspx

QUESTION 4

Note: This question is part of a series of questions that present the same scenario. Each
question in the series contains a unique solution that might meet the stated goals. Some
question sets might have more than one correct solution, while others might not have a
correct solution. After you answer a question in this section. you will NOT be able to return
to it. As a result, these questions will not appear in the review screen.

You create a table named Customer by running the following Transact-SQL statement:
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CREATE TABLE Customer |
CustomerID int IDENTITY(1,1) PRIMARY KEY,
FirsctName varchar(S50) NULL,
LastName varchar(50) NOCT NULL,
DateOifBircth date NOT NULL,
reditlimit money CHECK (CreditLimit < 10000),
TownID int NULL REFERENCES dbo.Town(TownID),
CreatedDate datetime DEFAULT (Getdate())

)

You must insert the following data into the Customer table:

Record First Last name Date of Credit Town ID Created date
name Birth limit
Record1 |Yvonne | McKay | 1984-05-25 [g000 |Mofown | currentdate
details and time
Record2 |lossef | Goldberg |1995-06-03 [ 5,500 | NOtown | currentdate
details and time

You need to ensure that both records are inserted or neither record is inserted.
Solution: You run the following Transact-SQL statement:

INSERT INTO Customer (FirstName, LastName, DateOfBircth, Creditlimit, CreatedDate)
VALUES (’Yvonne’, ‘McKay’, ‘1984-05-25’, %000, GETIDATE())

INSERT INTO Customer (FirstNams, LastName, DateCfBircth, Creditlimit, CreatedDate
VALUES (’Jossef’, ‘Goldberg’, ‘1995-06-03', 5500, GETDAIE())

GO

Does the solution meet the goal?

A. Yes
B. No

Answer: B

Explanation:

As there are two separate INSERT INTO statements we cannot ensure that both or neither records
is inserted.

QUESTION 5

Note: This question is part of a series of questions that present the same scenario. Each
question in the series contains a unique solution that might meet the stated goals. Some
question sets might have more than one correct solution, while others might not have a
correct solution. After you answer a question in this section. you will NOT be able to return
to it. As a result, these questions will not appear in the review screen.

You create a table named Customer by running the following Transact-SQL statement:

CREATE TABLE Customer (
CustomerID int IDENTITY(1l,1) PRIMARY KEY,
FirstName wvarchar(50) NULL,
LastName varchar (50) NOT NULL,
DateQfBirth date NOT NULL,
CreditLimit money CHECK (CreditLimit < 10000),
TownID int NULL REFERENCES dbo.Town(TownlD),
CreatedDate datetime DEFAULT (Getdate())

)

You must insert the following data into the Customer table:
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Record nFal:':te Last name D;itret: f ﬁ:::;t Town ID Created date
Record 1 | Yvonne McKay 1984-05-25 | 9,000 no tc?wn currelnt date
details and time
Record2 | Jossef Goldberg | 1995-06-03 | 5,500 | MO town curgentdate
details and time

You need to ensure that both records are inserted or neither record is inserted.
Solution: You run the following Transact-SQL statement:

INSERT INTO Customer (FirstName, LastName, DateOfBirth, CreditLimit, TownID, CreatedDate)
VALUES (’Yvonne’, ‘McKay’, ‘1984-05-25', %000, NULL, GETDATE())

INSERT INTO Customer (FirstName, LastName, DateCfBirth, CreditLimit, TownID, CreatedDate)
VALUES (’Jossef’, ‘Goldberg’, ‘1995-06-03', 5500, NULL, GETDATE())

ele]
Does the solution meet the goal?

A. Yes
B. No

Answer: B

Explanation:

As there are two separate INSERT INTO statements we cannot ensure that both or neither records
is inserted.

QUESTION 6

Note: This question is part of a series of questions that present the same scenario. Each
guestion in the series contains a unique solution that might meet the stated goals. Some
guestion sets might have more than one correct solution, while others might not have a
correct solution. After you answer a question in this section. you will NOT be able to return
to it. As a result, these questions will not appear in the review screen.

You create a table named Customer by running the following Transact-SQL statement:

CREATE TABLE Customer |
CustomerID int IDENTITY(1,1) PRIMARY KEY,
FirsctName varchar(S50) NULL,
LastName varchar(S0) NOT NULL,
DateQOfBirth date NCT NULL,

reditlimit money CHECK (CreditLimit < 10000),

TownlID int NULL REFERENCES dbo.Town(TownlID),
CreatedDate datetime DEFAULT (Getdate())

)

You must insert the following data into the Customer table:

Record r::te Last name D:it:: f Ci;::;t Town ID Created date
Record 1 | Yvonne McKay 1984-05-25 | 9,000 no tcrwn curre'n tdate
details and time
Record 2 | Jossef Goldberg | 1995-06-03 | 5,500 | " town current date
details and time

You need to ensure that both records are inserted or neither record is inserted.
Solution: You run the following Transact-SQL statement:
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INSERT INTO dbo.Customer (FirstName, LastName, DateOfBirch, CreditlLimict)
VALUES (’Yvonne’, ‘McKay’, ‘1984-05-25', S000), ("Jossef’, ‘Goldberg’, ‘'1995-06-03’, 5500)

Does the solution meet the goal?

A. Yes
B. No

Answer: A

Explanation:

Wit h t he | NSEARUESIstaidm@nt we can insert both values with just one statement.
This ensures that both records or neither is inserted.

References: https://msdn.microsoft.com/en-us/library/ms174335.aspx

QUESTION 7

Note: This question is part of a series of questions that present the same scenario. Each
question in the series contains a unique solution that might meet the stated goals. Some
guestion sets might have more than one correct solution, while others might not have a
correct solution. After you answer a question in this section. you will NOT be able to return
to it. As a result, these questions will not appear in the review screen.

You have a database that tracks orders and deliveries for customers in North America. The
database contains the following tables:

Sales.Customers:

Column Data type Notes
CustomerlD int primary key
CustomerCategoryiD int foreign key to the Sales.CustomerCategories
table
PostalCitylD int foreign key to the Application.Cities table
DeliveryCitylD int foreign key to the Application.Cities table
AccountOpenedDaste datetime does not allow new values
StandardDiscountPercentage | int does not allow new values
CreditLimit decimal(18,2) | null values are permitted
IsOnCreditHold bit does not allow new values
DeliveryLocation geography does not allow new values
does not allow new values
Rbopeliunther mvarchar(20} data is formatted as follows: 425-555-0187

Application.Cities:

Column Data type Notes
CityID int primary key
LatestRecordedPopulation | bigint null values are permitted

Sales.CustomerCategories:

Column Data type Notes
CustomerCategorylD int primary key
CustomerCategoryName | nvarchar(50) does not allow null values

The company's development team is designing a customer directory application. The application
must list customers by the area code of their phone number. The area code is defined as the first
three characters of the phone number. The main page of the application will be based on an
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indexed view that contains the area and phone number for all customers. You need to return the
area code from the PhoneNumber field.
Solution: You run the following Transact-SQL statement:

CREATE FUNCTICON AreaCode (
@phoneNumber nvarchar (20)
)

RETURNS

TABLE

WITH SCHEMABINDING
AS

RETURN (

SELECT ICP 1 @phoneNumber as PhoneNumber, VALUE as AreaCode
FROM STRING_SPLIT (@phoneNumber, ‘-')
)

Does the solution meet the goal?

A. Yes
B. No

Answer: A

Explanation:

As the result of the function will be used in an indexed view we should use schema binding.
References: https://sqglstudies.com/2014/08/06/schemabinding-what-why/

QUESTION 8

Note: This question is part of a series of questions that present the same scenario. Each
guestion in the series contains a unique solution that might meet the stated goals. Some
guestion sets might have more than one correct solution, while others might not have a
correct solution. After you answer a question in this section. you will NOT be able to return
to it. As a result, these questions will not appear in the review screen.

You have a database that tracks orders and deliveries for customers in North America.

The database contains the following tables:

Sales.Customers:

Column Data type Notes
CustomerlD int primary key
CustomerCatagorylD int foreign key to the Sales.CustomerCategories
table
PostalCitylD int foreign key to the Application.Cities table
DeliveryCitylD int foreign key to the Application.Cities table
AccountOpenedDate datetime does not allow new values
StandardDiscountPercentage | int does not allow new values
CreditLimit decimal(18,2) | null values are permitted
IsOnCreditHold bit does not allow new values
Deliverylocation geography does not allow new values
does not allow new values
s sl btk o data is formatted as follows: 425-555-0187

Application. Cities:
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Column Data type Notes
CitylD int primary key
LatestRecordedPopulation | bigint null values are permitted
Sales. CustomerCatagories:
Column Data type Notes
CustomerCategorylD int primary key
CustomerCategoryName nvarchar({50) does not allow null values

The company's development team is designing a customer directory application. The application
must list customers by the area code of their phone number. The area code is defined as the first
three characters of the phone number. The main page of the application will be based on an
indexed view that contains the area and phone number for all customers. You need to return the
area code from the PhoneNumber field.

Solution: You run the following Transact-SQL statement:

CREATE FUNCTION AreaCodes {

@phoneNumber nvarchar(20)
)
RETURNS nvarchar (10}

AS

BEGIN
DECLARE fareaCode nvarchar (max)
SELECT TOP 1 @aresaCode = VALUE FROM STRING_SPLIT (EphoneNumber, ‘-')
RETURN Zar=aCods

END

Does the solution meet the goal?

A. Yes
B. No

Answer: B

Explanation:

As the result of the function will be used in an indexed view we should use schema binding.
References: https://sglstudies.com/2014/08/06/schemabinding-what-why/

QUESTION 9

Note: This question is part of a series of questions that present the same scenario. Each
question in the series contains a unique solution that might meet the stated goals. Some
question sets might have more than one correct solution, while others might not have a
correct solution. After you answer a question in this section. you will NOT be able to return
to it. As a result, these questions will not appear in the review screen.

You have a database that tracks orders and deliveries for customers in North America. The
database contains the following tables:

Sales.Customers:
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Column Data type Notes
CustomerlID int primary key
CustomerCategorylD int foreign key to the Sales.CustomerCategories

table

PostalCitylD int foreign key to the Application.Cities table
DeliveryCitylD int foreign key to the Application.Cities table
AccountOpenedDate datetime does not allow new values
StandardDiscountPercentage | int does not allow new values

CreditLimit

decimal(18,2)

null values are permitted

IsOnCreditHold

bit

does not allow new values

Deliverylocation geography does not allow new values
does not allow new values
Rhonelumber mvarchar(20} data is formatted as follows: 425-555-0187
Application.Cities:
Column Data type Notes
CitylD int primary key
LatestRecordedPopulation | bigint null values are permitted
Sales.CustomerCategories:
Column Data type Notes
CustomerCategorylD int primary key
CustomerCategoryName | nvarchar(50) does not allow null values

The company's development team is designing a customer directory application. The application
must list customers by the area code of their phone number. The area code is defined as the first
three characters of the phone number. The main page of the application will be based on an
indexed view that contains the area and phone number for all customers. You need to return the

area code from the PhoneNumber field.

Solution: You run the following Transact-SQL statement:

CREATE FUNCTION AreaCode (
EphoneNumber nvarchar (20)

)

RETURNS nvarchar(10)

WITH SCHEMABINDING

AS

BEGIN
DECLARE fareaCode nvarchar (max)

SELECT @areaCode = value FROM STRING_SPLIT (éphoneNumber,

RETURN fareaCode
END

Does the solution meet the goal?

A. Yes
B. No

Answer: B
Explanation:

\_I)

The variable max, in the line DECLARE @areaCode nvarchar(max), is not defined.

70-761 Exam Dumps

70-761 Exam Questions

70-761 PDF Dumps

Back to the Source of this PDF & Get More Free Braindumpg/w.microsoftbraindumps.com

70-761 VCE Dumps


https://www.passleader.com/70-761.html
https://www.passleader.com/70-761.html
https://www.passleader.com/70-761.html
https://www.passleader.com/70-761.html
https://www.passleader.com/70-761.html
http://www.microsoftbraindumps.com/
https://www.passleader.com/70-761.html

@PassLeader

Leader of IT Certifications 1oy \VCE and PDF Exam Dumps from PassLeader

QUESTION 10
Note: This question is part of a series of questions that use the same scenario. For your
convenience, the scenario is repeated in each question. Each question presents a different
goal and answer choices, but the text of the scenario is exactly the same in each question
in this series.

You query a database that includes two tables: Project and Task. The Project table includes the

following columns:

Column name Data type Notes
Projectld int This is a unique identifier for a project.
ProjectName varchar{100)
StartTime datetime2(7)
EndTime datetime2(7) A null value indicates the project is not finished yet.
Userld int Identifies the owner of the project.
Taskld int This is a unique identifier for a task.
TaskName varchar(100) A nonclustered index exists for this column.
ParentTaskld int Each task may or may not have a parent task.
Projectld int A nu!l.value'indicates the task is not assigned to a

specific project.

StartTime datetime2(7)
EndTime datetime2(7) A null value indicates the task is not completed yet.
Userld int Identifies the owner of the task.

You plan to run the following query to update tasks that are not yet started:
UPDATE Task SET StartTime = GETDATE () WHERE StartTime IS NULL

You need to return the total count of tasks that are impacted by this UPDATE operation, but are
not associated with a project. What set of Transact-SQL statements should you run?

Option A
Option B
Option C
Option D

Cow»

Answer: B

Explanation:

The WHERE clause of the third line should be WHERE ProjectID IS NULL, as we want to count
the tasks that are not associated with a project.

QUESTION 11

Note: This question is part of a series of questions that use the same scenario. For your
convenience, the scenario is repeated in each question. Each question presents a different
goal and answer choices, but the text of the scenario is exactly the same in each question
in this series.

Hotspot Question

You query a database that includes two tables: Project and Task. The Project table includes the
following columns:
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Column name Data type Notes
Projectld int This is a unique identifier for a project.
ProjectName varchar{100)
StartTime datetime2(7)
EndTime datetime2(7) A null value indicates the project is not finished yet.
Userld int Identifies the owner of the project.
Taskld int This is a unique identifier for a task.
TaskName varchar(100) A nonclustered index exists for this column.
ParentTaskld int Each task may or may not have a parent task.
Projectld int A nu!l.value.indicates the task is not assigned to a

specific project.

StartTime datetime2(7)
EndTime datetime2(7) A null value indicates the task is not completed yet.
Userld int Identifies the owner of the task.

You need to identify the owner of each task by using the following rules:
- Return each task's owner if the task has an owner.

- If atask has

owner, return the project's owner.

no owner, but is associated with a project that has an

- Return the value - 1 for all other cases.
How should you complete the Transact-SQL statement? To answer, select the appropriate
Transact-SQL segments in the answer area.

Answer Area

SELECT T.Taskld, T.TaskNane,

‘v ( ¥ ) AS OuwnerUserld
ISNULL T.Userld, P.Userld, -1
COALESCE P.Userld, T.Userld, -1
CHOOSE -1, P.Userld, T.Userld
' -1, T.Userld, P.Userld
FROM Task T
~ |w Project P ON T.Projectid = P.Projectid
INNER JOIN
LEFT JOIN
RIGHT JOIN
Answer:
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Answer Area
SELECT T.TasklId, T.TaskHame,
[wi ¢ _|¥|) As OuwneruserId
'lS!‘iUI__L ________ [lsedd. Elsefld ... -0
COALESCE P.Userld, T.Userld, -1
CHOOSE- — — =~ — = 7 -1, PUserld, T Userld
-1, T.Userld, P.Userld

FROM Task T
|w Project P OM T.Projectld = P.ProjectId

INNER JOIN
LEFT JOIN

e e B mm e e e e o

RIGHT JOIN

Explanation:

Box 1: COALESCE

COALESCE evaluates the arguments in order and returns the current value of the first expression
that initially does not evaluate to NULL.

Box 2: T.UserID, p.UserID, -1

- Return each task's owner if the task has an owner.

- If a task has no owner, but is associated with a project that has an owner, return the project's
owner.

- Return the value -1 for all other cases.

Box 3: RIGHT JOIN

The RIGHT JOIN keyword returns all rows from the right table (table2), with the matching rows in
the left table (tablel). The result is NULL in the left side when there is no match. Here the right side
could be NULL as the projectID of the task could be NULL.

References:

https://msdn.microsoft.com/en-us/library/ms190349.aspx
http://www.w3schools.com/Sql/sql_join_right.asp

QUESTION 12

Note: This question is part of a series of questions that use the same scenario. For your
convenience, the scenario is repeated in each question. Each question presents a different
goal and answer choices, but the text of the scenario is exactly the same in each question
in this series.

Drag and Drop Question

You query a database that includes two tables: Project and Task. The Project table includes the
following columns:
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Column name Data type Notes
Projectld int This is a unique identifier for a project.
ProjectName varchar{100)
StartTime datetime2(7)
EndTime datetime2(7) A null value indicates the project is not finished yet.
Userld int Identifies the owner of the project.
Taskld int This is a unique identifier for a task.
TaskName varchar(100) A nonclustered index exists for this column.
ParentTaskld int Each task may or may not have a parent task.
Projectld int A nu!l'value.indicates the task is not assigned to a
specific project.
StartTime datetime2(7)
EndTime datetime2(7) A null value indicates the task is not completed yet.
Userld int Identifies the owner of the task.
Task level is defined using the following rules:
Task category Task level definition
Tasks that have no parent task | [Task Level] =0
Tasks that have a parent task [Task Level] = [Parent Task’s Level] + 1

You need to determine the task level for each task in the hierarchy. Which five Transact-SQL
segments should you use to develop the solution? To answer, move the appropriate Transact-SQL
segments from the list of Transact-SQL segments to the answer area and arrange them in the
correct order.
Transact-SQL segments
;ELECT ¥ TROM Ta=kWithLlevel

Answer Area

SELECT CASTINULL A2 ins) AS
ParensTaskld, T.Taskid, T.Taskiiame,
0 A% TaskLevel

FROM Task T WHMERE T.PazensTaskid I3
NULL

Wich TaskWithlewvel (FazenzTaskld,
TaskId, TaskName, Tasklewvel
As |

| unTON @ @
| SELECT R.TaskId A3 FarentTaskid,

T.Taskld, T.Taskliame, R.Tasklievel-l
AZ Tasklevel

FACM Task 7 INNER JOIN TaskiWichlevel
‘R ON T.ParentTaskld = R.Taskid

SELECT T.Taskld AS FazentTaskid,
CA3T(null A3 inz) A2 Taskid,
T.TaskNarme, 0 AS Tasklevel

FROM Task T WHERE T.Farzre=sTasklId IS
|HULL

[mzew aLL

Answer:
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ransact-SQL segments Answer Area

TS _I " SELECT CAST(NULL AS int) AS
ISEI_ECT ¢ FROM TaskWithLevel ParentTaskId, T.Ta=kId, T.TaskName,
SELECT * FROM TaskWithlevel S i

"SeLPCr TAsTInOTL X¥ ifne) X8 ™ — & FRCM Task T WHERE T.ParensTaskId IS
|ParensTaskId, T.Ta=kId, T.TaskName, L Y I - A |
lC‘ AS TaskLevel Bl G SETRE RO RO RO R
FRCM Task T WHERE T.ParensTaskId I3 URION

|NULL 1l = - — - - E

l?isrfa:kW;_thL:re]::.Ea:_er.t—:-as-k—Id,— — SELECT R.TaskId 235 ParentTaskld,

TaskId, TaskN TamkI 1 | T.Ta=kId, T.TaskName, R.Tasklevel+l
IAISf y =as ame, aRzx_evel) AS TaskLevel
R 4 FRCM Task T INNEZR JOIN TaskWithLevel

l—_,um S T T S (ST . [ Sy - —J R ON T.ParentTaskId = R.TaskId
v~ vt~ ] | p— — — — — — — — — — —
periocy S Tankie A Darentien’ e I Wish TaskWishlevel (FazentTaskld, |
T.Ta=kId, 4:T:skl(;me, R.Tasklavalsl |r;_-,ud, TaskName, Tasklevel

lAE Tasklevel l As ¢ ]
FRCM Task T INNER JCIN TaskiWithLevel P e e e e = = ==
|R ON T.PazentTaskld = R.TaskId __ |

SELECT * FROM TaskWithLevel

lca3T(null 23 int) A3 TaskId,
IT.Ta=kName, O AS TaskLevel
IEROM Tas=k T WHERE T.ParentTaskId IS

Explanation:

Box 1: SELECT CAST (NULL AS INT) AS ParentTaskID, etc.

This statement selects all tasks with task level 0. The ParentTaskID could be null so we should use
CAST (NULL AS INT) AS ParentTaskID.

Box 2: UNION

We should use UNION and not UNION ALL as we do not went duplicate rows. UNION specifies
that multiple result sets are to be combined and returned as a single result set.

Incorrect: Not UNION ALL: ALL incorporates all rows into the results. This includes duplicates. If
not specified, duplicate rows are removed.

Box 3, Box 4, Box 5:

These statements select all tasks with task level >0.

References:

https://msdn.microsoft.com/en-us/library/ms180026.aspx

QUESTION 13

Note: This question is part of a series of questions that use the same scenario. For your
convenience, the scenario is repeated in each question. Each question presents a different
goal and answer choices, but the text of the scenario is exactly the same in each question
in this series.

Drag and Drop Question

You query a database that includes two tables: Project and Task. The Project table includes the
following columns:
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Column name Data type Notes
Projectld int This is a unique identifier for a project.
ProjectName varchar{100)
StartTime datetime2(7)
EndTime datetime2(7) A null value indicates the project is not finished yet.
Userld int Identifies the owner of the project.
Taskld int This is a unique identifier for a task.
TaskName varchar(100) A nonclustered index exists for this column.
ParentTaskld int Each task may or may not have a parent task.
Projectld int A nu!l.value.indicates the task is not assigned to a

specific project.

StartTime datetime2(7)
EndTime datetime2(7) A null value indicates the task is not completed yet.
Userld int Identifies the owner of the task.

When running an operation, you updated a column named EndTime for several records in the
Project table, but updates to the corresponding task records in the Task table failed. You need to
synchronize the value of the End Time column in the Task table with the value of the EndTime
column in the project table. The solution must meet the following requirements:

- If the End Time column has a value, make no changes to the record.
- Ifthe value of the EndTime column is null and the corresponding project
record is marked as completed, update the record with

time.

Which four Transact-SQL segments should you use to develop the solution? To answer, move the
appropriate Transact-SQL segments from the list of Transact-SQL segments to the answer area
and arrange them in the correct order.

the project finish

Transact-SQL segments

FROM Project &S5 P

|WHERE P.EndTime IS NOT KULL AND

|T.EndTime is NULL

FROM Task AS T
|

|WHERE P.EndTime IS KULL 2KD T.EndTime

| IS NOT NULL

UPDATE T SET T.Endlime = P.ExiTime

= P, Projectid

INNER JCIN Project AS P ON T.Projectld

INNER JOIN Task RS T ON T.Userlid =

P.Userld

Answer:

70-761 Exam Dumps
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Transact-SQL segments Answer Area

FECM Project AS P

WHERE P.EndTime I3 WOT NULL AND
T.EndTime is NULL

FROM Task AS T

WHERE P.EndTime IS NULL AND T.EndTime © @

I5 NOT NULL

UPDAIE T 5ET T.EndTime = P.EndTime
INNER JOIN Project AS P ON T.Projectld
= P.ProjectId

INNER JOIN Task AS T ON T.Userld =
EF.UserId

UPDATE P 5ET P.EndTime = T.EndTime

Explanation:

Box 1: UPDATE T SET T.EndTime = P.EndTime

We are updating the EndTime column in the Task table.

Box 2: FROM Task AS T

Where are updating the task table.

Box 3: INNER JOIN Project AS P on T.ProjectlD = P.ProjectID We join with the Project table (on
the ProjectID columnID column).

Box 4: WHERE P.EndTime is NOT NULL AND T.EndTime is NULL We select the columns in the
Task Table where the EndTime column in the Project table has a value (NOT NULL), but where it
is NULL in the Task Table.

References: https://msdn.microsoft.com/en-us/library/ms177523.aspx

QUESTION 14

Drag and Drop Question

You need to create a stored procedure that meets the following requirements:

- Produces a warning if the credit limit parameter is greater than 7,000

- Propagates all unexpected errors to the calling process

How should you complete the Transact-SQL statement? To answer, drag the appropriate Transact-

SQP segments to the correct locations. Each Transact-SQL segments may be used once, more

than once, or not at all. You may need to drag the split bar between panes or scroll to view content.
Transact-SQL segments Answer Area

)

|RAISERROR ("Warming: Credit CREATE PROC dbo.UpdateCustomer @CustomerID imt, ECreditlimit money
1imit is over ?7,000!'7, 1€, 1) aAs

[ {* Razn Creds SEGID

th!?fﬁ?oﬂ ‘:rf:?._ xf: "‘ DECLARE QfzxorMessage varchax(l1000)

|Limie is oves 7,000!7, 10, 1) BEGIN TRY

[THROW 51000, ‘Wazning: Crediz

[Limiz is over 7,00017, 1 - T Transact-SQL segment

| ©

[THRCW ° UEDATE dbo.Cu=tomex

- 3ZT Creditlimit = glreditlimic

[REISERROR (@ErrorMess=age, 18, 1) NIERE) Céatome iD= 8Cootomerth)

| END TRY

| BEGIN CATCH

|[RRISERROR (@ZrzerMessage, 10, 1) SET @ExroxMessage = ERROR_MESSAGE ()

: INSERT INTO dbo.Errorlog(Applicazionid, [Date], ExrorMessage)
|EHROW 51000, 8EZrrorMessage, 1 VALUES (1, GETDATE({(), fErzoxMesasage)

I — Transact-SQL segment
iRAISERROR {8ErzozMessage, 20, 1)

!HITH LCG
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Answer:
Transact-SQL segments Answer Area
P e =
BRAISERROR ["Warming: Credit CREATE PROC dbo.UpdateCustomer ECu=tome=rID int, @Creditlimit monay
Limit ia quer_5,.0000%, 16,11 || L]
_________ EEGIH
FERISERRCR ('Harning: Credit
i R :r.:.ng e . | DECLARE @ErrorMessage varchar(l000]
pLimSe s dvest 0N, A0k BEGIK TREY
[HROW 51000, ‘Warming: Credit ] [HROW 51000, ‘Warning: Credit |
limit is oves 7,000!7, 1 s T limit is over 7,000, 1 I
_________ L ]
l:_EROTni' I L] UPDATE dbe.Customer
'L_'__'__'__'__'__'__'__'__'_-"I SET Creditlimit = @Creditlimis
baIsERRoR (pZrrozMessags, 16, by s Tff_”‘; el e e
__________ D TR
e = = = = = = = = I BEGIN CATCH
RATSERROR (@ErrorMes=sage, 10, 1] 3ET @ErrorMessage = ERROR _MESBAGE()
I'_ ————— 'fl IM3ERT INTO dbo._ErrorlogiipplicasionID, [Date], ErrorMassage)
ITHRCW 51000, BEzzorMess=age, 1 |
__________ e !
[RAISERRCR (BZzzosMessage, 20 13 HATSEHROG: [IErrorlessage, <18y ]"J
WITH LOG [ i HM_: _________
EHD

Explanation:

Box 1: THROW 51000, 'Warning: Credit limit is over 7,000!",1

THROW raises an exception and transfers execution to a CATCH block of a TRY...CATCH
construct in SQL Server.

THROW syntax:

THROW [ { error_number | @local_variable },

{ message | @local_variable },

{ state | @local_variable } ]

[;]

Box 2: RAISERROR (@ErrorMessage, 16,1)

RAISERROR generates an error message and initiates error processing for the session.
RAISERROR can either reference a user-defined message stored in the sys.messages catalog
view or build a message dynamically. The message is returned as a server error message to the
calling application or to an associated CATCH block of a TRY...CATCH construct. New applications
should use THROW instead.

Severity levels from 0 through 18 can be specified by any user. Severity levels from 19 through 25
can only be specified by members of the sysadmin fixed server role or users with ALTER TRACE
permissions. For severity levels from 19 through 25, the WITH LOG option is required.

On Severity level 16. Using THROW to raise an exception The following example shows how to
use the THROW statement to raise an exception.

Transact-SQL

THROW 51000, 'The record does not exist.’, 1;

Here is the result set.

Msg 51000, Level 16, State 1, Line 1

The record does not exist.

Note: RAISERROR syntax:

RAISERROR ({msg_id | msg_str | @local_variable } { ,severity ,state }

[,argument[,..n]])

[WITH option [ ,...n]]

Note: The ERROR_MESSAGE function returns the message text of the error that caused the
CATCH block of a TRY...CATCH construct to be run.

References:

https://msdn.microsoft.com/en-us/library/ms178592.aspx
https://msdn.microsoft.com/en-us/library/ms190358.aspx
https://msdn.microsoft.com/en-us/library/ee677615.aspx

QUESTION 15
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Hotspot Question
You have the following stored procedure:

CREATE PROC dbo.Updatelogs @Code char(5), @ipplicationld int, @Info varchar(1000)
ES

BEGIN
BEGIN TRY
BEGIN TR&N
INSERT INTO dbo.Logl VALUES (@Code, @Applicationld, @Info)
IF @Ccde = ‘C2323 AND @Applicationld = 1
RAISERROR('C2323 code from ER application!’, 1€, 1)
ELSE
INSERT INTO dbo.Log2 VALUES (@Code, @ApplicationId, €Info)
INSERT INTO dbo.Log3 VALUES (fCode, @Applicationld, €Info)
BEGIN TREN
IF @Code = ‘C2323’
ROLLBACK TRAN
ELSE
INSERT INTO dbo.Logd4 VALUES (fCode, @ipplicationld, @Info)
IF @@TRANCOUNT > 0
COMMIT TRAN
END TRY
BEGIN CRTICH
IF XACT_STATE() != 0
ROLLBACK TRAN
END CATCH
END

You run the following Transact-SQL statements:

EXEC dbo.Updatelogs ‘C2323’, 1, ‘Employee records are updated.’
EXEC dbo.UpdatelLogs ‘C2323’, 10, ‘Sales process started.’

What is the result of each Transact-SQL statement? To answer, select the appropriate options in
the answer area.

Answer Area
Stored procedure execution Result

First stored procedure execution ' IV

All transactions are rolled back.

Only the Log1 and Log3 tables are updated.
Only the Log1 table is updated.

All four tables are updated.

Second stored procedure execution | v

Only the Log1, Log2, and Log3 tables are updated.
All transactions are rolled back.

Only the Logt1 table is updated.
Only the Log1 and Log3 tables are updated.

Answer:
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Explanation:

Box 1: All transactions are rolled back.

The first IF-statement, IF @CODE = 'C2323' AND @ApplicationID = 1, will be true, an error will be
raised, the error will be caught in the CATCH block, and the only transaction that has been started
will be rolled back.

Box 2: Only Logl, Log2, and Log3 tables are updated. The second IF-statement, IF @Code =
'C2323', will be true, so the second transaction will be rolled back, but logl, log2, and log3 was
updated before the second transaction.

QUESTION 16

Hotspot Question

You need to develop a Transact-SQL statement that meets the following requirements:
- The statement must return a custom error when there are problems
updating a table.

- The error number must be value 50555.

- The error severity level must be 14.

- A Microsoft SQL Server alert must be triggered when the error condition

occurs.

Which Transact-SQL segment should you use for each requirement? To answer, select the
appropriate Transact-SQL segments in the answer area.
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